

## UNDERGRADUATE PROGRAM 2018-19 Academic Year Spring 2019 Effective April 22, 2019

	Head Count	FULL-TIME S' No. of Units	TUDENTS Ave. No. of Units	FTE	P Head Count	ART-TIME S' No. of Units	-	FTE	TO <sup>·</sup> Head Count	TS FTE	
SCU Undergraduate Degree Students - Quarter	Count	Cinto	Or Ornio	1	Oddin	Crinto	or ornito	1 12	Count	Units	
First-year Students											
Arts & Sciences	737	12,169.50	16.51	737	4	36.00	9.00	3.00	741	12,205.50	740.00
Business	399	6,545.00	16.40	399					399	6,545.00	399.00
Engineering	225	4,097.00	18.21	225	1	9.00	9.00	0.75	226	4,106.00	225.75
Total - First-year Students	1,361	22,811.50	16.76	1,361	5	45.00	9.00	3.75	1,366	22,856.50	1,364.75
Transfer Students											
Arts & Sciences	110	1,871.00	17.01	110	2	14.00	7.00	1.17	112	1,885.00	111.17
Business	39	671.00	17.21	39					39	671.00	39.00
Engineering	11	195.00	17.73	11	1	8.00	8.00	0.67	12	203.00	11.67
Total - Transfer Students	160	2,737.00	17.11	160	3	22.00	7.33	1.83	163	2,759.00	161.83
Continuing Students - Main Campus											
Arts & Sciences	1,779	31,143.25	17.51	1,779	202	1,622.50	8.03	135.21	1,981	32,765.75	1,914.21
Business	965	17,138.50	17.76	965	92	704.00	7.65	58.67	1,057	17,842.50	1,023.67
Engineering	599	10,569.50	17.65	599	59	478.00	8.10	39.83	658	11,047.50	638.83
Total - Continuing Students - Main Campus	3,343	58,851.25	17.60	3,343	353	2,804.50	7.94	233.71	3,696	61,655.75	3,576.71
Continuing Students - External Study											
Arts & Sciences	9	171.00	19.00	9					9	171.00	9.00
Business	3	57.00	19.00	3					3	57.00	3.00
Engineering											
Total - Continuing Students - External	12	228.00	19.00	12	0				12	228.00	12.00
Total SCU Degree Students											
Arts & Sciences	2,635	45,354.75	17.21	2,635	208	1,672.50	8.04	139.38	2,843	47,027.25	2,774.38
Business	1,406	24,411.50	17.36	1,406	92	704.00	7.65	58.67	1,498	25,115.50	1,464.67
Engineering	835	14,861.50	17.80	835	61	495.00	8.11	41.25	896	15,356.50	876.25
Total - SCU Degree Students	4,876	84,627.75	17.36	4,876	361	2,871.50	7.95	239.29	5,237	87,499.25	5,115.29
SCU Undergraduate Non Degree Students											
Main Campus					4	24.00	6.00	2.00	4	24.00	2.00
External Study											
Exchange Programs	6	87.00	14.50	6					6	87.00	6.00
Total - Non Degree Students	6	87.00	14.50	6	4	24.00	6.00	2.00	10	111.00	8.00
Total Undergraduate Students	4,882	84,714.75	17.35	4,882	365	2,895.50	7.93	241.29	5,247	87,610.25	5,123.29

#### NOTES

- 1. SCU degree students include students admitted to the undergraduate degree program.
- 2. First-year includes first time degree-seeking students initially enrolling at SCU in fall, winter, or spring term.
- 3. Transfes include students with academic credit from another college, initially enrolling at SCU in fall, winter, or spring term.
- 4. Number (average) of units does not include units from audited classes.
- 5. Student full-time equivalency (FTE) is based on 12 units in the undergraduate program.



#### UNDERGRADUATE PROGRAM - EXTERNAL STUDY

2018-19 Academic Year Spring 2019 Effective April 22, 2019

	Head	FULL-TIME ST	Ave. No.	FTE	Head	PART-TIME STUDENTS No. of Ave. No.	FTE	TOTA Head Count	AL STUDENTS No. of Units	S FTE
SCU Undergraduate Degree Students - External Study	Count	Units	of Units	FIE	Count	Units of Units	FIE	Count	Units	FIE
College of Arts & Sciences										
SCU - London										
Affiliated Programs - Tier 1	4	76.00	19.00	4				4	76.00	4.00
Affiliated Programs - Tier 2										
Affiliated Programs - Tier 3										
Affiliated Programs - Tier 4										
Affiliated Programs - Tier 5										
Oxford Honors Program	1 4	19.00	19.00	1				1	19.00	1.00
Exchange Programs	4	76.00	19.00	4				4	76.00	4.00
Washington Semester - American Academy Panetta Institute										
Total - Arts & Sciences	9	171.00	19.00	9	0			9	171.00	9.00
	3	171.00	13.00	9	<u> </u>			9	171.00	3.00
Leavey School of Business SCU - London										
Affiliated Programs - Tier 1										
Affiliated Programs - Tier 2										
Affiliated Programs - Tier 3										
Affiliated Programs - Tier 4										
Affiliated Programs - Tier 5	1	19.00	19.00	1				1	19.00	1.00
Exchange Programs	2	38.00	19.00	2				2	38.00	2.00
Total - Leavey School of Business	3	57.00	19.00	3	0			3	57.00	3.00
School of Engineering										
SCU - London										
Affiliated Programs - Tier 1										
Affiliated Programs - Tier 2										
Affiliated Programs - Tier 3										
Affiliated Programs - Tier 4										
Affiliated Programs - Tier 5										
Oxford Honors Program										
Exchange Programs Total - School of Engineering	0	0.00		0	0			0	0.00	0.00
	U	0.00		· ·	<u> </u>			U	0.00	0.00
Total SCU Undergraduate Degree Students - External Study by Program SCU - London										
Affiliated Programs - Tier 1	4	76.00	19.00	4				4	76.00	4.00
Affiliated Programs - Tier 2	7	70.00	13.00	7				7	70.00	4.00
Affiliated Programs - Tier 3										
Affiliated Programs - Tier 4										
Affiliated Programs - Tier 5	1	19.00	19.00	1				1	19.00	1.00
Oxford Honors Program	1	19.00	19.00	1				1	19.00	1.00
Exchange Programs	6	114.00	19.00	6				6	114.00	6.00
Washington Semester - American Academy										
Panetta Institute										
Total SCU Undergraduate Degree Students - External Study	12	228.00	19.00	12	0			12	228.00	12.00

<sup>1.</sup> For undergraduates enrolled in external study programs, registration is set initially at 19 units and adjusted to actual units earned upon completion of the program.

<sup>2.</sup> For undergraduates enrolled in an external study program and an ROTC course, the initial number of units will be greater than 19.

<sup>3.</sup> Number (average) of units does not include units from audited classes.



# GRADUATE PROGRAMS - QUARTER 2018-19 Academic Year Spring 2019 Effective April 22, 2019

	F	ULL-TIME S	TUDENTS	Р	ART-TIME S	TUDENTS	TOTAL STUDENTS				
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of	
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE
SCU Graduate Students - Quarter											
College of Arts & Sciences											
Pastoral Ministries (M.A.)	3	24.00	8.00	3.00	23	92.00	4.00	11.50	26	116.00	14.50
Pastoral Ministries Distance Learning (M.A.)	5	40.00	8.00	5.00	22	88.00	4.00	11.00	27	128.00	16.00
Non Degree - Pastoral Ministries					5	20.00	4.00	2.50	5	20.00	2.50
Total - College of Arts & Sciences	8	64.00	8.00	8.00	50	200.00	4.00	25.00	58	264.00	33.00
Leavey School of Business											
J.D./MBA Combined Degree	1	32.00	10.67	3.56		24.00	4.80	2.67	1	56.00	6.22
J.D./MSIS Combined Degree  J.D./MSIS Combined Degree	1	32.00	10.67	3.50		24.00	4.00	2.07	1	56.00	0.22
Accelerated MBA (AMBA)											
,	4.4	450.00	44.00	11.00					11	158.00	44.00
Executive MBA (EMBA)	11	158.00	14.36	11.00					11	158.00	11.00
On-line Marketing <i>(coming in Fall 2019)</i> On-line MBA	45	474.00	44.00	40.00	70	556.00	7.13	61.78	00	700.00	04.44
	15	174.00	11.60	19.33	78				93	730.00	81.11
Master of Business Administration (M.B.A.)	82	894.00	10.90	99.33	224	1,518.00	6.78	168.67	306	2,412.00	268.00
Master of Science - Management Information Systems (M.S.I.S.)	69	629.00	9.12	69.89	48	258.00	5.38	28.67	117	887.00	98.56
Master of Science - Business Analytics (M.S.)	67	657.00	9.81	73.00	15	84.00	5.60	9.33	82	741.00	82.33
Master of Science - Finance (M.S.)	4	43.00	10.75	4.78	3	15.00	5.00	1.67	7	58.00	6.44
Master of Science - Supply Chain Management (M.S.)											
Non Degree - Business											
Post Baccalaureate CAAP	44	704.00	16.00	58.67	3	16.00	5.33	1.33	47	720.00	60.00
Total - Leavey School of Business	293	3,291.00	11.23	339.56	371	2,471.00	6.66	274.11	664	5,762.00	613.67
School of Engineering											
Doctor of Philosophy (Ph.D.)	16	128.00	8.00	16.00	33	77.00	2.33	9.63	49	205.00	25.63
Engineer's Degree					2	2.00	1.00	0.25	2	2.00	0.25
Master of Science (M.S.)	340	3,041.00	8.94	380.13	303	1,168.00	3.85	146.00	643	4,209.00	526.13
Engineering Certificate					14	50.00	3.57	6.25	14	50.00	6.25
Non Degree - Engineering					7	23.00	3.29	2.88	7	23.00	2.88
Total - School of Engineering	356	3,169.00	8.90	396.13	359	1,320.00	3.68	165.00	715	4,489.00	561.13
-		-				-					



## GRADUATE PROGRAMS - QUARTER 2018-19 Academic Year Spring 2019 Effective April 22, 2019

	FULL-TIME STUDENTS				PART-TIME STUDENTS				TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of		
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE	
SCU Graduate Students - Quarter												
School of Education & Counseling Psychology												
Master of Arts (M.A.) - Counseling	13	134.50	10.35	14.94	15	70.50	4.70	7.83	28	205.00	22.78	
Master of Arts (M.A.) - Counseling Psychology	165	1,588.50	9.63	176.50	145	774.50	5.34	86.06	310	2,363.00	262.56	
Master of Arts (M.A.) - Educational Administration	9	81.00	9.00	9.00	39	210.00	5.38	23.33	48	291.00	32.33	
Master of Arts (M.A.) - Interdisciplinary Education												
Master of Arts Teaching (M.A.T.) Multiple Subject	47	473.00	10.06	52.56	62	370.00	5.97	41.11	109	843.00	93.67	
Master of Arts Teaching (M.A.T.) Single Subject	21	201.00	9.57	22.33	72	439.00	6.10	48.78	93	640.00	71.11	
MAT Clear Teach Catholic School Teach												
Abb Pre Tch Prg Catholic School Multi												
Bilingual Cross-Cult Language Certificate					1	3.00	3.00	0.33	1	3.00	0.33	
Catholic School Leadership Certificate												
Alternative and Correctional Certificate					1	3.00	3.00	0.33	1	3.00	0.33	
Clear Teaching Certificate												
Credential for 6+ yrs Catholic School Teachers Certificate												
Preliminary Admin Service Certificate					3	12.00	4.00	1.33	3	12.00	1.33	
Preliminary Multiple Subj Teach Pro Catholic School Teach Certificate												
Preliminary Single Subj Teach Pro Catholic School Teach Certificate					2	12.00	6.00	1.33	2	12.00	1.33	
Non Degree - Counseling Psychology												
Non Degree - Education												
Total - School of Education & Counseling Psychology	255	2,478.00	9.72	275.33	340	1,894.00	5.57	210.44	595	4,372.00	485.78	
T. (100)10. 1. (10) 1. (10)	040		07.05	4 040 04	4.400	5 005 00	10.01	074.50	0.000	44.007.00	4 000 57	
Total SCU Graduate Students - Quarter	912	9,002.00	37.85	1,019.01	1,120	5,885.00	19.91	674.56	2,032	14,887.00	1,693.57	

#### NOTES

- 1. In Pastoral Ministries, student full-time equivalency (FTE) is based on 8 units.
- 2. In Business graduate programs, student full-time equivalency (FTE) is based on 9 units, except CAAP where FTE is based on 12 units.
- 3. In Engineering graduate programs, student full-time equivalency (FTE) is based on 8 units.
- 4. In Education & Counseling Psychology programs, student full-time equivalency (FTE) is based on 9 units.
- 5. Number (average) of units does not include units from audited classes.



# GRADUATE PROGRAMS - SEMESTER 2018-19 Academic Year

Spring 2019 Effective April 22, 2019

	F		ART-TIME S	-	1	TOTAL STUDENTS					
	Head Count	No. of Units	Ave. No. of Units	FTE	Head Count	No. of Units	Ave. No. of Units	FTE	Head Count	No. of Units	FTE
SCU Graduate Students - Semester and Special Programs		2									
School of Law											
Juris Doctor (J.D.) - Day	507	6,826.00	13.46	568.83					507	6,826.00	568.83
Juris Doctor (J.D.) - Evening	136	1,328.00	9.76	166.00	11	65.00	5.91	8.13	147	1,393.00	174.13
Juris Doctor (J.D.) - Day Study Abroad											
Juris Doctor (J.D.) - Evening Study Abroad											
JD/MBA Combined Degree	4	38.00	9.50	4.22	7	46.00	6.57	5.11	11	84.00	9.33
JD/MSIS Combined Degree											
Master of Laws (L.L.M.)	7	86.00	12.29	7.17	11	82.00	7.45	6.83	18	168.00	14.00
Master of Laws (L.L.M.) Abroad											
Non Degree Exchange	4	48.00	12.00	4.00	1	2.00	2.00	0.17	5	50.00	4.17
Non Degree					1	10.00	10.00	0.83	1	10.00	0.83
On-line Master of Legal Studies (MLS) - Corporate Compliance <sup>2</sup>					4	36.00	9.00	3.00	4	36.00	3.00
Total - School of Law	658	8,326.00	12.65	750.22	35	241.00	6.89	24.07	693	8,567.00	774.29
Jesuit School of Theology											
Master of Divinity (M.Div.)	35	472.00	13.49	52.44					35	472.00	52.44
Master of Theological Studies (M.T.S.)	6	63.00	10.50	7.00	11	58.00	5.27	6.44	17	121.00	13.44
Master of Theology (Th.M.)	4	47.00	11.75	5.22	2	10.00	5.00	1.11	6	57.00	6.33
Master of Theology (Th.M.) - Candidates											
Bachelor of Sacred Theology (S.T.B.)	1	9.00	9.00	1.00					1	9.00	1.00
Licentiate of Sacred Theology (S.T.L.)	27	283.00	10.48	31.44	6	29.50	4.92	3.28	33	312.50	34.72
Licentiate of Sacred Theology (S.T.L.) - Candidates	3	28.00	9.33	3.11					3	28.00	3.11
Licentiate of Sacred Theology/Master of Theology (S.T.L./Th.M.)											
Doctor of Sacred Theology (S.T.D.)	8	76.00	9.50	8.44					8	76.00	8.44
Doctor of Sacred Theology (S.T.D.) - Candidates	6	57.00	9.50	6.33					6	57.00	6.33
Master of Arts (Common M.A.)											
Master of Arts (Common M.A.) - Candidates											
Master of Arts/Master of Divinity (M.A./M.Div.)											
New Directions					8	0.00			8		
Non Degree					4	12.00	3.00	1.33	4	12.00	1.33
Total - Jesuit School of Theology	90	1,035.00	11.50	115.00	31	109.50	3.53	12.17	121	1,144.50	127.17
Total SCU Graduate Students - Semester and Special Programs	748	9,361.00	12.51	865.22	66	350.50	5.31	36.24	814	9,711.50	901.46

#### NOTES

- 1. In the School of Law, student full-time equivalency (FTE) is based on 12 units, except for the Evening J.D. program which is based on 8 units, and the JD/MBA or JD/MSIS programs which are based on 9 units.
- 2. In the School of Law, the on-line Master of Legal Studies operates on a quarter calendar.
- 3. The Jesuit School of Theology offers a January Intersession. Otherwise, all JST programs operate on a semester calendar.
- 4. In the Jesuit School of Theology, student full-time equivalency (FTE) is based on 9 units, except for the Common M.A. which is based on 12 units.
- 5. Students in New Directions and Non Degree programs are always considered part-time.
- 6. Number (average) of units does not include units from audited classes.



OVERALL ENROLLMENT 2018-19 Academic Year Spring 2019 Effective April 22, 2019

	FULL-TIME STUDENTS				PART-TIME STUDENTS				TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of		
	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE	
SCU Enrollment by Program												
Undergraduate Programs												
College of Arts & Sciences	2,635	45,355	17.21	2,635	208	1,673	8.04	139	2,843	47,027	2,774	
Leavey School of Business	1,406	24,412	17.36	1,406	92	704	7.65	59	1,498	25,116	1,465	
School of Engineering	835	14,862	17.80	835	61	495	8.11	41	896	15,357	876	
Non Degree Students	6	87	14.50	6	4	24	6.00	2	10	111	8	
Total Undergraduate	4,882	84,715	17.35	4,882	365	2,896	7.93	241	5,247	87,610	5,123	
Graduate Programs - Quarter												
College of Arts & Sciences	8	64	8.00	8	50	200	4.00	25	58	264	33	
Leavey School of Business	293	3,291	11.23	340	371	2,471	6.66	274	664	5,762	614	
School of Engineering	356	3,169	8.90	396	359	1,320	3.68	165	715	4,489	561	
School of Education & Counseling Psychology	255	2,478	9.72	275	340	1,894	5.57	210	595	4,372	486	
Total Graduate Programs - Quarter	912	9,002	9.87	1,019	1,120	5,885	5.25	675	2,032	14,887	1,694	
Graduate Programs - Semester and Special Programs												
School of Law	658	8,326	12.65	750	35	241	6.89	24	693	8,567	774	
Jesuit School of Theology	90	1,035	11.50	115	31	110	3.53	12	121	1,145	127	
Total Graduate Programs - Semester	748	9,361	12.51	865	66	351	5.31	36	814	9,712	901	
Total Enrollment	6,542	103,078	15.76	6,766	1,551	9,131	5.89	952	8,093	112,209	7,718	

#### NOTE

Throughout this report, head count represents the number of unique (unduplicated) students enrolled at census. Occasionally, students enroll in two programs simultaneously (e.g., a graduate student enrolled as degree-seeking in one program and non degree-seeking in another program). The student would then be counted in the degree program only; units would be counted in the program where they were taken.



OVERALL ENROLLMENT 2018-19 Academic Year Spring 2019 Effective April 22, 2019

	FULL-TIME STUDENTS				PART-TIME STUDENTS				TOTAL STUDENTS			
	Head	No. of	Ave. No.		Head	No. of	Ave. No.		Head	No. of		
COLL Franchiscopt has College /Cohool	Count	Units	of Units	FTE	Count	Units	of Units	FTE	Count	Units	FTE	
SCU Enrollment by College/School												
College of Arts & Sciences	0.005	45.055	47.04	0.005	000	4.070	0.04	400	0.040	47.007	0.774	
Undergraduate - Degree Seeking	2,635	45,355	17.21	2,635	208	1,673	8.04	139	2,843	47,027	2,774	
Graduate	8	64	8.00	8	50	200	4.00	25	58	264	33	
Total College of Arts & Sciences	2,643	45,419	17.18	2,643	258	1,873	7.26	164	2,901	47,291	2,807	
Leavey School of Business												
Undergraduate - Degree Seeking	1,406	24,412	17.36	1,406	92	704	7.65	59	1,498	25,116	1,465	
Graduate	293	3,291	11.23	340	371	2,471	6.66	274	664	5,762	614	
Total Leavey School of Business	1,699	27,703	16.31	1,746	463	3,175	6.86	333	2,162	30,878	2,078	
School of Engineering												
Undergraduate - Degree Seeking	835	14,862	17.80	835	61	495	8.11	41	896	15,357	876	
Graduate	356	3,169	8.90	396	359	1,320	3.68	165	715	4,489	561	
Total School of Engineering	1,191	18,031	15.14	1,231	420	1,815	4.32	206	1,611	19,846	1,437	
Non Degree Students - Undergraduate												
Total Undergraduate - Non-degree Seeking	6	87	14.50	6	4	24.00	6.00	2	10	111	8	
School of Education & Counseling Psychology												
Undergraduate - Degree Seeking												
Graduate	255	2,478	9.72	275	340	1,894	5.57	210	595	4,372	486	
Total School of Education & Counseling Psychology	255	2,478	9.72	275	340	1,894	5.57	210	595	4,372	486	
School of Law												
Undergraduate - Degree Seeking												
Graduate	658	8,326	13	750	35	241	7	24	693	8,567	774	
Total School of Law	658	8,326	12.65	750	35	241	6.89	24	693	8,567	774	
Jesuit School of Theology												
Undergraduate - Degree Seeking												
Graduate	90	1,035	11.50	115	31	110	3.53	12	121	1,145	127	
Total Jesuit School of Theology	90	1,035	11.50	115	31	110	3.53	12	121	1,145	127	
Total Enrollment	6,542	103,078	15.76	6,766	1,551	9,131	5.89	952	8,093	112,209	7,718	

#### NOTE

Throughout this report, head count represents the number of unique (unduplicated) students enrolled at census. Occasionally, students enroll in two programs simultaneously (e.g., a graduate student enrolled as degree-seeking in one program and non degree-seeking in another program). The student would then be counted in the degree program only; units would be counted in the program where they were taken.